
  9
00

  

  
200  

2 x M5
6 Nm

2 x M5
6 Nm

4 x M5 Nut

4 x M5
6 Nm

2 x M3
1 Nm

Driver

  500  
  500  

  5
00

  

M10 Nut

M10 Washer
Anchorage
Template

Concrete

4 x M10 x 250
Anchor Bolt

4 x M6
Setscrew
5 Nm

Note : All dimensions are in millimetres.

1

2 5

Detail of Driver Replacement

Kg

LB6021.500.0035 VESTA C1 A2, 8 LED,
220-240V AC 50-60Hz, CLASS I

AW

9,20,18 m
2

Electrical Connection Detail

3

4

6 Anchorage-Concrete Detail

7

VESTA

*Installation and Maintenance must be performed by authorized personnel only.
*Montaj ve Bakım sadece yetkili personel tarafından yapılmalıdır.
*Only original parts should be used during the maintenance.
*Bakımda sadece orijinal parcalar kullanılmalıdır.


	A4-DİKEY-PARÇA DETAY
	Teknik Resim Görünümü1
	Teknik Resim Görünümü2
	Teknik Resim Görünümü3
	Teknik Resim Görünümü4
	Teknik Resim Görünümü5
	Teknik Resim Görünümü6
	Teknik Resim Görünümü7
	Detay Görünümü E (1 : 15)
	Teknik Resim Görünümü9
	Detay Görünümü F (1 : 10)
	Teknik Resim Görünümü11
	Teknik Resim Görünümü12
	Detay Görünümü H (1 : 8)
	Teknik Resim Görünümü14


